Chapter 15: Hints and Solutions to Selected Exercises p. 108
Exercise 15.1

Let 
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 and write an expression (use the distributive laws carefully) representing the multiplication 
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Exercise 15.2

c. 
[image: image10.wmf]5080

)

1728

(

=

s


Exercise 15.3

b. 
 Use the geometric series relationship 
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 to show that 
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, that is, you should be able to derive an inequality for 
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5.
Decompose n into an arbitrary product of primes, say 
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, compute the prime factorization then of 
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, considering the hint given in the textbook.
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